https://www.qb365.in/materials/

(Model - 1)
Model question paper 2019 — 2020 / wrglfl aflerrggmrsir 2019 — 2020
ugsmrip eugliy —X STD
SCIENCE - gpflaflwsb

(English & Tamil Version / gym&levid woppiid HLolp)

Time Allowed : 15 mins + 2 %2 hrs Maximum Marks : 75
asmrevd gjemey : 15 Bliflib + 2 %2 wewf) Orés wIHGusgEer © 75
Instructions : - 1. Check the question paper for fairness of printing. If there is

any lack of fairness, inform the Hall supervisor inmediately.
2. Use Blue (or) Black ink to write and underline and pencil to

draw diagrams.

9 Bleyeor ;. 1. gmearsg aflearrssepn Flwrs 9&al ugleurd) o srargsmr
sTeiTLIENS FIlUTSSIS ClETeTareayld. dFarll L ailsd)
GewpullBlilsT gewmds savareaniliurerflb 2 L 6TigwiTs

Gsfail&seaib.
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2. Beib (VeI E@BLIL eowUlnear STRSINSDHEED
9j13.56CaTyHusHGD LHGW vweTu®hSS Causist(hLo.

UL BI&6T auenrausn@ QusiTdlsd LweTLBS56, L.

Note :- This question paper contains four Parts
@oloy ;- @sualarrggrer Brerg Lfeysmerd ClaTavTLgi.
Part-|
ugs —|
Note: i) Answer all the questions.

ii) Choose the most suitable answer and write the code with
the corresponding answer.
Gy i) Sywarsg allerrésEpd@h el werfldsea]o.
ii) Baap Qur@sswrar afleoLullsner CaibesHS53I

567 GOIUTL_(HL6T aflenLuilenesru|d eTLSIs%.

. To project the rockets which of the following principles is / are required?
a) Newton’s third law of motion

b) Newton’s law of gravitation
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c¢) Law of conservation of linear momentum

d) Botha and c

rréGsL sTeyBedle aflglssir LwaTLGSSILG SIS
9. Byl L _esfler epsrmmid eflg)

9),. Blupt” 1 esflesr Qumrgy mirdiflwsd oflg)

@). CriGasri® 2 g wrmr Cari_ur®

Fr. 9 LHID )

. Kilowatt hour is the unit of

a) resistivity | b) conductivity

c) electrical energy d) electrical power
SGevmeumi_oewsf] sTeTLIg) TEDUDLW VG
9. LOlGTHEWL_ 6T6HT ). HL_GF| Smer

3). Wlsir Y MHmeL . L0163 SIm 65T

element emits its radiation spontaneously
a) Ni b) Pd c) Pt d) U

SeTaflFenswurs s lflwssnsamer Geusflull®id Fmer QuUnHM Fesfliod

<. Ni <. Pd @). Pt . U
. Which of the following is a triatomic molecule?
a) Glucose b) Helium

c) Carbon dioxide d) Hydrogen

& 1PEHEITL_UNMIET 6THI CLPOUET)] CLPEVETn 1) 7
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9| BEHBCHTENV <. af edlwiid
@). sTiUsT L Y dewav(h FF. DD LT E063T

is an important metal to form amalgam

a) Ag b) Hg c) Mg d) Al
Bressvena o Hourssedls) CoemauliL@BID pahalwiwrer 2 Garasid

9. Ag <. Hg ®). Mg . Al

. The component present in lesser amount, in a solution is called

a) Solute b) solvent c) Solution d) Colloid

(5 HrFdle) 6s GMMbS jeTe) Cl&TadTL gn pleweT eTeaT S Gmmib.
9| HEHTOILIT(H6IT 9. HEWILILITEHT

B3). swTFs FF. & LPLOLD

. A patient with blood group ‘O’ was injured in an accident and has blood loss. In

this condition the doctor should effectively use blood group for

transfusion.
a) ‘O’ group b) ‘AB’ group
c) ‘A’ or ‘B’ group  d) All blood group

aflugg sryewiors ‘O’ @)rés ausmsamws FTThS PHUHEG Fls B)rds @)Ly

THUGADS). bHVld SewEG ______ @rés awsmu wessiei
Clasidgieuri
9. ‘O’ suenas 9. ‘AB’ suemns

3). ‘A’ ssvevg) ‘B’ F. S|EHRTHF| OIS



8.
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Excessive consumption of alcohol leads to
a) Loss of memory b) Cirrhosis of liver
c) state of hallucination  d) Suppression of brain function

ooy s @ BEhAw WFIILYPEESSIRTTL 2 (HaTaS]

3. EHTUS DI 2} HV6STeL Fewgay
@). wrwg GsrHmLD . epemerd CFwsLUT®H &GdDeY
is formed during anaerobic respiration

a) Carbohydrate b) Ethyl alcohol

c) Acetyl CoA d) Pyruvate

STHBVET FeUTFSFGT (LPEILD 2_(HAITEUS

o). srirGurenanGri- ). THFED YVHANTEV

@). AL _ewL6D Gam 67 . oL HGar

10. Casparian strips are present in the of the root.

11.

a) Cortex b) Pith c) Pericycle d) Endodermis

srevurfwer Ul soL_ser Gourfler uGHulled sTeTiILGSDSI.

3. ymewfl 9. LS @). Quiflengsdler
. 9|BDBHTeV

The soft finely stratified sedimentary rock refers to

a) shale b) petroleum c) methane

d) coal
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srartiu@ag) LT SYlLDSSD Jepwhgieer GEpi HDID
BT EI&E6T (LRI GLOGTEHLOWTET LITE»D I DEGSweTs GDPILILISTESLD.
- Gagev 9. QUL Grredlwid @). 1558zebr
. Blevdasi]
12. Al files are stored in the

a) Folder b) box c) paint d) scanner

ue Gariiyser Galléssuu@n @)L

9. Gariiyg ClsTGLL 9j. Gluig
@). Paint . oG eariT
Part -1l
ugagl -l
Note :- Answer any seven questions (Q.No: 22 is compulsory) (7x2 =14)
oY - aaauCueid 7 aflarrésendd aflewLwefldsaL.

(afleor erevor © 22 & sU_Lrwiors ugeeflése)).

13.State Newton’s second law
Byt Lafler @reavrmid aflSluileneT gmis.
14.What are the causes of ‘Myopia’?

AL LOuriens) GampUTL_igNETeRT STTTSM5S5 FnDl-
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15.What is the minimum distance needed for an echo?
aFErredls s Cumanurear GammbsUL &g C\FTameva 6TeiTer?
16.Why does the rate of a reaction increase while raising the temperature?
Geuliu Blewevenw Flais G Curg allemearullsr Gaus s fssng. erer?
17.Differentiate soaps and detergents
Gamriiy wHmy 4L TEeTL v CoumLiBHSId%.
18.Write the dental formula of rabbit
(pwiedledT LIV eumILILITL Lg 6DET 6T(LSI%.
19.What is Bolting? How can it be induced artificially?
‘GuITeDIg MBI’ TETMTSL 6TEITEUT? |SeWET 6Tsueurm) ClFWMHeNSWTS 2o @aildssurin?

20.1dentify the parts A,B,C,& D

Car®assiiu’_Hsrer uL_ggled A,B,C wmmib D g dlu ursnisemer gewL_wrerid

STERTOLD.
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21.How can you determine the age of fossils?
yewg 2 uilis Ligeukiseafler &TeVdbens sTeuaT ) &enTdheIL_eVTLD?

22.A charge of 10 coulomb flows through a bulb in 5 second. What is the current
through the bulb?
10 s giib WlsiTenmi’ L 1b 5 eflpmiy Crrid g Wer aflersdler euflwrs uriidng)

sTerflsL 96T euflGu GlaFsvgid lsiTeTL L SHl6tT j6erey 6T6dTERT ?

Part -lll

ugg — Il

Note : Answer any seven questions (Q.No : 32 is compulsory) (7x4 =28)

GUIOY :  aaauGuggid 7 allaTrésense allewefléseayn (aflerr srei : 32 @

s Lmwiors ugleveflsseayi).

23. State and prove the law of conservation of linear momentum
2 h% wrMurl(hd CarieLurl oL ganl Ssewesr GlouiiNss

24.i) Draw a ray diagram to show the image formed by a convex lens when the
object is placed between F and 2F.

ii) Define one calorie.



https://www.qb365.in/materials/

i) @eNGevsita: sperilev F wopmud 2F ysitefla s @ @)ew_Gur Gummeir
®audssuL@L Curgl o (HaurssUu@D LNbUSSINETRT ST UEDTLIL LD QNI S.
i) s sCGeor) susHrwm).
25.1) How many electrons are passing per second in a circuit in which there is a
current of 5A?
ii) Mention two cases in which there is no Doppler effect in sound -
i) & gyotilwi WlerGarmiL_tb urTwb @ earaEnMlsL @ allarTy ChrigHlev Limujib
6TEUGL_[TT 6T &6 16T 6TERT6uvT1&56WEH ML & 6WTH B (D%
il) Lrderi aflswerey pevLGup wpiyurs GTEE GYLSDOT Fn 1S,
26.Derive the relationship between relative molecular mass and vapour density.
UL CPVGIn M Blewmé Lo el HLTHHEGWw 2 srer GlgrLiLileneT sumail.
27.How is metal corrosion prevented?
2 Gors gflrardens 5H&EG D (penmsamer allauf].
28.With a neat labelled diagram explain the structure of a neuron.
plurreaflsr gmwlious 5Ebs uLsgiLar allaf.
29.a) Read the following content and answer the questions below.
Pure — bred tall Pea plants are first crossed with pure - bred dwarf pea
plants. The pea plants obtained in F1 generation are then cross — bred to produce
F2 generation of pea plant.
i) What do the plants of F1 generation look like?

ii) What is the ratio of tall plants to dwarf plants in F2 generation?
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iii) Which type of plants were missing in F1 generation but reappeared in F2
generation?
b) Why is the sino - atrial node called the pacemaker of heart?
9)) Qar@ssliul L uGdlew L sg SCY CaTHESELILL L aflaTTssEndE
aflenL_wefl&sayb.

Srw CpLewL U1 Ll L Tenflé ClFgwrarg srw GLeoL i Ll L-Tewfl&
GQFguyr_er sevtiflemd CFinuiiul L g). @)ser apsod Hewgs F1 (s #H55))
sreugid seliflern Qeiwiul ® F2 (@ rewLmb #b58)) sraurmissner
2_(HeuTaHBWG].

i. F1 greurmiser steuhenm pdb%1 @) mHS6T?
ii. F2 #ba8lufls Carardlw GBEL swL wHMID GL L& Sreurnisaflsr
afl#lg b eTsdTewr?
iii. sTeueuemss sTourd F1 wewmésiiul B F2  shsglulley easr® b
o _(Heumrestgl?
9) w&Carm - MGt sgm “Cuen CuasT” sTaTn) 76T HPYPSELILBE DS ?
30. Differentiate the following
i) Monocot root and Dicot root
if) Aerobic and Anaerobic respiration.
Caupiur® 5ms.
) 205 eilssemevs sTaur Gour wHmd @)HalsSlewas sreur Geur.

i) sTHm SFeurEFd WHMID STHYVOT FeureLd
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31.(i) What precautions can be taken for preventing heart disease?
(i) Name two maize hybrids rich in amino acid lysine.
). @sw Crriissr THUBMMSS SHHES CnelEHTETERLD (LpTelaTssilshamas
BLAIYEDEHDENS o )15,
ii). ewevFeir 9BIGerm flevid GleMlbg B)rent(® wasTFEFTem HevLILjuili
suemsaaflesr QLD 6T(PSIS.
32. (i) Write the features of Nuclear fission and Nuclear fusion.
(i) Calculate the pH of 0.01M HNO3?
(i). sgmids® dara) whpib Sjamiss® Gaaalldr SaTamLSEMET THSIs5.

(ii). 0.01M HNO3 sewraedsir pH wgliiy sres.

Part - IV
uggl — IV (3x7 =21)
Note D - 1. Answer all the questions.

2. Each question carries seven marks.

3. Draw diagram wherever necessary.

epluy - 1. Swearsg aflerrdseEnd@h aflenL_wefldseyb.

2. geubleurm eflerrallH@Lb 671g HIG LTSS

3. Gameauwrer @)L misefle) LL b aisnrs.
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33. (a) (i) State Boyle's law
(i) Explain the experiment of measuring the real and apparent expansion of a
liquid with a neat diagram.
(i) uruiled afglewwd o mis.
(i) Slreugdleir 2 _swrewio Geutiu aflfley wHnib CsTHm Cleuliu ailflailener
Serail(Hio Cersemarenw Ggefleurar UL gL 6T ailsurf].

(OR)

(b) (i) A source of sound is moving with a velocity of 50ms-' towards a stationary
listener. The listener measures the frequency of the source as 1000Hz. What will
be the apparent frequency of the source when it is moving away from the listener
after crossing him? (Velocity of sound in the medium is 330 ms-1)
(i) Calculate the velocity of a moving body of mass 5kg whose linear momentum
is 2kg ms-1.
i) 9 960 epsvwrarg 50 all! FewFGauissLlev @uia) Blansvuilsy o_sirer
Cal@gmeny Gprad basmaANSl. CaL_GBImed o _ewTriiu®b 6 epsvddlest
9@ Cleusiemtresrg 1000 Hz 9,@1b. )b 6 cpsvwrearg guiey Bleneuilsy

2 sirer Gal_gmewr alll_( allevsld GQasvgd Curg 2 ewrriiL@B o GCsrHm

oA Qeusir sreiran? (pefluflsir HewsGeusip 330 Hafl-1).
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i) 5 &.8) Plewmuysirer Qur@gRerTssrmlsir CrTGaTL B 2 b 2 £.4] fail-! sreflsh

|B6T FwFCausseng Herhs (Hs.
34. (a) i) Calculate the mass of 1.51%1022 molecule of H20.

if) Calculate the moles of 46g sodium

iii) Calculate the number of molecules present in the 36g water.

9. 1) 1.51x102 eppsvgsan mi Fflsir (H20) Blewmenwid sresrs.

ii) 46 &) GamigwsSleiT CLOTVFHENOTH & TEUvTd.

iii) 36 & FMlsL 2_aiTer cLpevddn MIGfl6T TevTaRTIS DB HTEISTS.

(OR)

b) Write notes on various factors affecting solubility.

SMISDMTL LUTHld G usVGaum srrenilisemart unml GMILL euenTs.
35.a) i) Why are thyroid hormones referred as personality hormones?

ii) Define triple fusion

iif) Enumerate the importance of forest.

9.i) ewgrmii® anriGreTssT 76T ‘e amriTGLomrsiTSsiT 6TITMI

9D &HELILIH S sdTmerr?

ii) ‘apallsmantey’ — ausnrwim
iil) sr@sefler pEalwsgieud unHY) e mis.
(OR)
b) i) List out any three parasitic adaptations of leech

ii) Natural selection is a driving force for evolution. How?
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9. 1) S|l ewLuiled sremTiL@ID HL_HevuTent] HsaImLIL&6T sTeweuGuwig)b

CPEITN DT 6T(LPG1 5.

i) uflswrrgSDeTer o_kg allmswurs Bunamas Csie| 2 _srergl. sTeusurm)?
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